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TpuroHomeTpumyeckme ypaBHeHUS,
npuBoadLLMecsd K KBagpaTHbIM

. OnpepeneHuve: ypaBHeHUA BUAA

asin’x + bsinx +c =0

acos’x + bcosx +c =0

atg®x + btgx + ¢ = 0

actg®x + bctgx + ¢ =0
Ha3bIBaAKOTCA YPAaBHEHUAMM, NPUBOAALLMMCA K
KBagpaTHOMY.
3ameHat = sinx,t € |[—1;1];t = cosx,t €
|—1;1]; t = tgx; t = ctgx




2sin®x —3sinx +1=0
[yctb sinx = t,t € [—1; 1]
2t2 = 3t+1=0
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cos’x —4cosx+3 =0
[lyctb cosx = t, t € |—1; 1]
t? —4t+3=0
D=16—-12 =4
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t=1=>cosx=1
X =2nn,n € /
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. 3tg?x + 2tgx —1 =0
[lyctb tgx = t,
3t 4+2t—1=0
D=4+12=16
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t1=§=>tgx=§=>x1=arctg§+7m,nEZ
T

t, =—1=>tgx = -1 =>x2=—Z+7m,nEZ



cos’x + 3sinx = 3
cos’x + sin‘x =1
cos’x =1 —sin’x
sin’x = 1 — cos*x
1 —sin’x+ 3sinx—3 =0
—sin’x + 3sinx—2=0
sin’x —3sinx +2 =0
[lycth sinx = t, t € [—1;1] =>
t?—3t+2=0

ty =2,t, =1€|—1;1]
T
t=1=>5inx=1=>x=5+2nn,nEZ



tgx — 2ctgx+1=0

tgx-ctgx =1
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;ctgx = —
ctgx tgx

tgzx—2+tgx_0

tgx =

2
tgx ———+1=0=>
tgx tgx

{tgzx—2+tgx=0
tgx # 0
tg?x — 2+ tgx =0
[lyctb tgx =t
t?+t—2=0
D=1+8=9

t1=1,t2=_2
T
t1=1=>tgx=1=>x1=z+7m

t, =—2=>tgx =—-2=>x,=—arctg2+nn,n €Z



3agaHusa 019 caMOCTOATENbHOIO
peLleHuns

PewwuTte

YpPaBHEHUA:

1) 3sin“x —5sinx —2 =0
2) 2cos*x + 3cosx —2 =0
3) ctg®x —6ctgx +5=0

4) 4sinx
5) 5sin®x -

+ cos’x = 4
- 6cosx —6 =10
-3tgx —2 =0

6) 2tg°x -



